Solving Equations Revision £

(a) Solve heequation 5x=35

Answer x = —:’t ...........................................
)]
(b} Solve the equation x-7=35
................................... o . 1Y o
Answerx = L“l .........................................
1)

(Total 2 marks)
Solve the equations.

{a) 3x=21

.....................................................................................................................................

(n

...................................................................................................................................

M

...............................................................

(2

.....................................................................................................................................
.....................................................................................................................................

3)
(Total 7 marks)



g

3. (a)  Solve the equations

() 2x=24

...................................................................................

..........

. 1
(i) y-9=11

(D
(iii) ZZS
B e
Answer z = %2 .................................................
(1)
(iv)y 4w+3=13
bw =10

.............................................................................................

2)

4,  Solve these equations

{fa) 4dx--7=5

@)
(b) 2y+5) =28

3)
(¢) 7z+2=9-3z

Answer z = O?' .............................................

3)
(Total 8 marks)
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5.

Solving Equations Revision [p
Solve the equations
@ 8-5=11
Bz e
BB ER e
ANSWET Z = e e
2)
(b) 3(w-2)=9
= Y S
gw’lg ..............................................................................................................
w1658 e G
(3)
(Total 5 marks)
Solve the following equations.
() 2c+5=3
W S,
...... A
Answer x = I .............................................
@
) Ay-3)=18
B = 122 1D
A 2 B0
%2 0= L*' Answerya..?....ﬁ .......................................
(3
© 2 -=u
B S,
...... I A R
ANSWEr 2= o kB
2)

(Total 7 marks)
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Solve the equation Sx+4=3x+7

..............................................................................................................................................

o~

Answer x = lb .........................................

(Total 3 marks)

In the table below, the letters w,x , ¥ and z represent different numbers, The total of each row

is given at the side of the table.

w w w w 24
w w X X 28
B w w X Y 25
w X y z 23

Find the values of w, x, y and z.

e lx: |6
Answer w = 6 ........... x= % ........ =
(@)  Solve the equation 22— 2% _3

.....................................................................

72=6

(Total 4 marks)

......... P N I W

.....................................................................................................................................

Answer x = ..... L}" .....................................................

(by Solve the inequality 3x + 8 <29

(3)

..................................................................................................................................

.....................................................................................................................................

Answer QC<? ....................

(2}
(Total 5 marks)
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